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1. A decrease in the demand for peanut butter could be caused by a(n)
a. increase in the supply of peanut butter
b. increase in the price of peanut butter
¢. doubling of the price of bread
d. drought in Georgia that destroyed 30 percent of the peanut crop

2. In the game theory model of oligopoly,
a. firms will be successful in colluding to raise prices
b. one firm raises its prices, and other firms follow suit
¢. firms will match other firms' price cuts but not their price increases
d. firms may attempt to avoid the worst outcome but may achieve a less-than-optimal outcome

3. Suppose John truthfully tells the car dealer the maximum amount he's willing to pay for a Ford Mustang:
$15,000. The dealer says, "You're in luck; we have one on the lot for $15,000." Which of the
following statements is true?

a. John will not buy the car.

b. The car is not worth $15,000.

¢. John gets $15,000 in consumer surplus.
d. John gets no consumer surplus,

4. The formula for the spending multiplier when variable net exports are included in aggregate

expenditures is
a. 1/(MPS+MPM)

b. 1/MPS
c. MPS x MPM
d. 1/(MPC x MPM)

5. Which of the following is not an example of price discrimination?
a. IBM charges business users of its laser printer more than home users
b. Intel offered faster and slower versions of a computer chip
c. An amusement park charges the same admission fee to local residents and out-of-towners
d. Adobe stripped some features from Photoshop to offer a cheaper version
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6. If the economy were at its potential output level, which of the following would not be true?
a. The actual unemployment rate would be greater than the natural rate.
b. The labor market would be in equilibrium.
¢. There would be some seasonal unemployment.
d. There would be some frictional unemployment.

7. If the demand for a good is very price inelastic, the imposition of a tax on that good
a. places the burden of the tax equally on buyers and sellers
b. permits sellers to pass most of the cost increase resulting from the tax on to the consumers of the
product
¢. reduces the profits earned by sellers since they must write the check to pay the tax

d. makes the demand more inelastic

8. Which of the following statements is true of a monopolist?
F a. The firm charges the highest possible price.
b. The firm always earns a profit.

c. The firm might earn a profit in the long run.

d. The firm generates a larger consumer surplus than a perfectly competitive firm.

9. A decrease in the price level will cause
a. an increase in the quantity of aggregate output supplied
. adecrease in the quantity of aggregate output supplied

b
c. a lefiward shift of the aggregate supply curve
d. arightward shift of the aggregate supply curve

10. Suppose that a long-run adjustment in a perfectly competitive industry results in decreased industry
output but leaves price unchanged. Which of the following must be true?
a. The industry is a constant-cost industry
b. The market demand curve shifted left; the market supply curve shifted right
¢. The market supply curve shifted left; the market demand curve shifted right
d. Both market supply and demand increased, but supply increased more than demand




B RE 104 2EERLHESBENE
104/3/4 8:00 AM~9:30 AM BEAEANSRN RS
AMEE T ERER RTER A5
ALEELARTA CETELLANTE

#tg:_ 8RKRE (£4F°%3R)

TR ERGERAENER - ZASRAHKFARARE  TEXZARTFTRA)
WA TEA T ER

————————————————————— (FAEBEERRE  #HEEREEE)

11. Suppose that a menopolistically competitive firm is in long-run equilibrium. The firm's demand curve
is tangent to its average cost curve at Q = 25. Average cost is minimized at Q = 35, where average
cost is $50. Which of the following is true?

a. This firm charges $50 for the good.

b. This firm charges more than $50 for the good.

c. This firm charges less than $50 for the good.

d. The firm has excess capacity at all output levels greater than 35 units.

12. Which of the following does nof contribute to an improved standard of living?
a. increases in the amount and quality of available resources
b. better technology
c. lower prices for the necessities of life
d

. improvements in the “rules of the game”

13. The law of diminishing returns explains why
a. monopolies have a guaranteed profit margin
b. short-run MC and AVC curves are U-shaped
c. the production possibilities curve is bowed out
d

. long run supply curves are downward sloping

14. Full employment
a. exists when everyone in the economy has a job
b. exists when everyone who wants a job has one

exists when the unemployment rate is zero

e o

will always include some unemployment

15. Which of the following is nof an example of derived demand?
a. More people want to plant gardens in the spring; therefore, demand for hoes and shovels
increases then.
b. Strong ticket sales for a concert cause the producers to schedule an extra show and demand
more ushers.
c. Increased use of robots leads to a decrease in demand for labor.

d. The development of alternative fuels made from corn leads to an increase in demand for corn.
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